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[Aptitude Test for General Awareness]

Reasoning and Logical Deduction : Q. 110Q. 25
Numerical Ability and Scientific Aptitude : Q. 26to Q. 50
General Knowledge : Q.51t0Q.75
English Language : Q.76t0Q. 100

PAPER 4 REASONING AND LOGICAL DEDUCTION

001.  Which of the following words missing in | go1. 38 #@en ¥ f=fafgd § & + @1 wsg

this series SCD, TEF, UGH, , WKL? SCD. TEF, UGH, . WKL T & ?
(A) CMN (B) UII (A) CMN (B) UJI
(C) VI (D) UT (C) VI (D) T

002. Which of the following words missing | g02. 38 #@en ¥ f=fafgd # & + @1 wsg

in this series CMM, EOO, GQQ, ; CMM, EOO, GQOQ, . KUU 7e
KUU 27
(A) GRR (B) GSS (A) GRR (B) GSS
(C) ISS (D) ITT (C) ISS (D) ITT
4-AA| [2] [ Contd...
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003. Look at this series: 2, 1, (1/2), (1/4), ... | 003. =9 m H <@ 2, 1, (1/2), (1/4) 3m g&%
What number should come next? +i It e 37 E|T%‘Q? %&
(A) (1/3) (B) (1/8) (A) (173) (B) (1/8) §§ P
(C) (2/8) (D) (1/16) (C) (2/8) (D) (1/16) PaEs
ﬂ%
004. Lookatthisseries: (1/9),(1/3),1, __ ,9. | 004. =9 {@Fﬂ CARKCE (1/9), (1/3),1, 9. %g%
What number should fill the blank? s T S T g I aE TR ? Lo
(A) (2/3) (B) 3 (A) (2/3) (B) 3
(C) 6 (D) 27 (C) 6 (D) 27
005. Window is to pane as book is to 005. TEgehl =1 I Grerel Heleh @ 2 &1 Tl
(A) novel (B) glass fepaTe 1 2.
(A) 3914 (B) ™™
(C) cover (D) page (C) &R (D) 9B
006. Odometer is to mileage as compass isto | 006.  ISIHIET 1 ST T HZAST H & Ia] 994
(A) Speed (B) Hiking FEE H1 &
(C) needle (D) direction @) e () A
(C) B (D) femm
007. Doctor : Nurse :: ? : Follower 007. EiFeC Td:: 7 Tt
(A) Employer (B) Leader (A) T (B) =T
(C) Worker (D) Manager (©) EARE] (D) EERE
008. Inacertain code 'MISSIONS'iswrittenas | 008. Us f4f&rd e § 'MISSIONS' @i
'MSIISNOS'. How is 'ONLINE' written 'MSIISNOS' for@r sirdr 281 39 g °
in that code? 'ONLINE' %8 fer@r simar 27
(A) OLNNIE  (B) ONILEN (A) OLNNIE (B) ONILEN
(C) NOILEN (D) LNOENI (C) NOILEN (D) LNOENI
4-AA| [3] | P.T.O.
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In a code language 1f POSE 1s coded as | g9, e whig W91 H 3fe POSE s OQNPRTDF
OQNPRTDF, then the word TYPE will % ®9 ¥ hifed fopat Smar 8, df TYPE
be coded as 316G ohl ehiTSd fehdT STTT
(A) SUXZOQFD (B) SUXZQOFD (A) SUXZOQFD (B) SUXZQOFD
(C) SUXZOQDF (D) SUXZQODE (C) SUXZOQDEF (D) SUXZQODE
Pointing to a photograph, Vipul said, | 010. Ush TEAIX hl 3T ST Hhid aq ﬁl&ﬂ
"She is the daughter of my grandfather's 4 %81, g8 W TET & IHaAd oS hi
only son." How is Vipul related to the girl a8l BICUTS d sl A ﬁigaﬂ G
in the photograph? gefad 87
(A) Father (B) Brother (A) foar (B) Te
(C) Cousin (D) Uncle (C) IR 9E (D) =m0
A is B's sister. C is B's mother. Dis C's | 011. A,B shi 987 81 C, B &l |7 81 D, C &I
father. E is D's mother. Then, how is A fgar 21 E, D i @f 81 TR, A, D & &8
related to D? Heiferd 27
(A) Grandfather (B) Grandmother (A) <Tal (B) @l
(C) Daughter (D) Granddaughter (C) =&t (D) i
One morning Udai and Vishal were | 012. U Hdg 37 3T ﬁﬂﬂ?l@ﬁ@ o -
talking to each other face to face at a g &1d o @ 9 gfe fasmer & s
crossing. If Vishal’s shadow was exactly 329 % i 3 of, f 3e3 fem fewm
to the left of Udai, which direction was -
Udai facing?
(A) East (B) West (A) T (B) T
(C) North (D) South (C) 5w (D) &

4-AA| [4] [ Contd...
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013. Prasanna went 15 km to the west of his | 913, w7 279 sR @ ufgm 4 15 forrft mam, f gg@
house, then turned left and walked 20 km. 10 ger 3R 20 forrt =ran| 35+ fhe qd %&
He then turned East and walked 25 km IR #@ fopam 31t 25 forrft oo =@ iR §§ p
and finally turning left covered 20 km. it o o8 Al 3R qg L 20 ferdt = 35
How far was he from his house? 98 A9 =X H feraHl g ofi ? ;
(A) 10kms  (B) 20kms (A) 10 fordt  (B) 20 foprl 3k4
(C) 30kms (D) 40 kms (C) 30 fepHt (D) 40 fepeft KA

014. Choose the word which 1s different from | 414, 37 3ree ‘Ei:i St SRt & 3T Bl
the rest.
(A) Rigveda (B) Yajurveda b= i i El_{l,ﬁf:
(C) Atharvaveda (D) Ayurveda (C) odde (D) T

015. Choose the odd one out 015. TauH ﬂel
(A) Screw (B) Hammer (A) e (B) Eﬁﬁ'&’,‘l
(C) Needle (D) Pin (C) % (D) o

016. Arrange the given words Alphabetical | 016. 3 71T ¥Teq] I AUTHTE 3hH | SHATET
Order and choose the one that comes first. 3R 9gal 31H 91 g:f
(A) Science (B) Scrutiny (A) Science (B) Scrutiny
(C) Scripture (D) Scramble (C) Scripture (D) Scramble

017. In the word ECONOMETRICS, if the | 017. ECONOMETRICS ¥reg H, If¢ ggatn 3R
first and second, third and fourth, fourth o8, e AR =, =i 3R gieEl,
and fifth, fifth and sixth letters are aferat ST DT R, AT FER T TER
interchanged up to the last lefter, what et T T R A T W e AR
would be the tenth letter from right? Wiz
(A) O (B) R (A) O (B) R
(C) N (D) I (€) N (D) 1

4-AA| [5] | P.T.O.

gcollegeduniaa

T



s
E %R

i

2 AR S S 0 A

PEmaSs
KRN B+ R

IF “+’ stands for *-’, “-" stands for ‘x’, 'x’

018. Ife “+ w1 319 - & forw B, a1 = o1 31
stands for ‘=’ and ‘+’stands for ‘+’then ‘X’ B, ‘X’ W AY ‘g AW <+ W Y
what is the value of 56x7+13-11+15- ‘' B Al 56x7=13-11+15-8+2-7 &1 TH
8+2-77 FITR?
(A) 30 (B) 45 (A) 30 (B) 45
(C) 60 (D) 90 (C) 60 (D) 90
A + B means A is the son of B;A—B | 019. A+B &I 348, A,B &1 q7 8; A-BHI
means A is the wife of B; A*B means A qddd A, Bt & 9ot 8; A*B <h1 379 @
is the brother of B: A/B means A is the A B®HI IS 2; A/B®I 319 A, B bl o1
mother of B and A = B means A is the 23N A=B% 314 8 A, B &l 989 3|
sister of B. What does P + R — Q mean? P+R-Qdr & 31 87
(A) Q is the father of P (A) Q.,P I fUar 2
(B) Q is the son of P (B) QBPQ;[S?%
(C) Q 1s the uncle of P (C) Q,P 1 == 2
(D) Q is the brother of P (D) Q,P & s 2
583 1s related to 293 in the same way as | 20. 5831 ¥ 293 ¥ I&] & & 5 488 I
488 isrelated to_ gag g HY
(A) 291 (B) 378 (A) 291 (B) 378
(C) 487 (D) 581 (C) 487 (D) 581
Find the missing number in following | 021. Tr=fafea J@en § I9 T& I@
series. 11:25::17: fepfre 7
(A) 33 (B) 28 FLop s by

(A) 33 (B) 28
1€) &l ) 27 (C) 41 (D) 37
Select the correct combmation of | g2z, 921 ufeeenfua =@ % foru nfordy o4l
mathematical signs to replace ? signs and o Tl IS 1 9399 i dlish feu U
to balance the given equation. IR H’g‘%ﬁ fopam =11 Tk |
8757277274 87527277274
(A) = x+=+ (B) x=t+ (A) = x+=+ (B) x =+=
(C) x+=+ (D) +x=+ (C) x+=+ (D) +x=+
4-AA| [6] [ Contd...
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023.  Here are some words translated from an | 023, =187 S gl sl HEH W1 & SaTfed fopam §
artificial language. T 8| AHAl 1 HAA BIAT & STEAT] %&
tamceno means sky blue e §§ 3
cenorax means blue cheese TR T A9 B & Ao R -3
aplmitl means star bright PSSl TR gg

forg reg o1 319 “TmehieT MR B

Which word could mean "bright sky"? T 27 ﬁ&ﬁ
(A) Cenotam  (B) Mitltam A) Cenotam (B Mittam Wana
(C) Raxmitl (D) Aplceno (C) Raxmitl (D) Aplceno

024. Here are some words translated from an | 024. &7 $ Weg HHW 9T & T 2
artificial language. A 1 Hadd Bl & 31 &1 Ug
dionot means oak tree sIHIqeRT WAl BidT & 311 =1 U=
blyonot means oak leaf STEARR % T 2 Hue F1 O
blycrin means maple leaf o vz 1 i Bt R @) e 27
Which word could mean "maple syrup"?
(A) Blymuth (B) Hupponot (A) Blymuth (B) Hupponot
(C) Patricrin (D) Crinweel (C) Patricrin (D) Crinweel

025. Here are some words translated from an | ¢25. J&f EE) mﬁ“r E| gﬁrq ST 9 S ECI TR
artificial language. T 2
moolokarn means blue sky I:tha,"nf o1 379 & e TRl
wilkospadi means bicycle race ERENFHEIR R R FE TR
moolowilko means blue bicycle j{*ﬂﬁifﬁvqﬁ & 1Y 7 Al "rgehel
Which word could mean "racecar"? I F vree 1 379 TR Bl Hehdl 87
(A) Wilkozwet ~ (B) Spadiwilko (A) Wilkozwet (B) Spadiwilko
(C) Moolobreil (D) Spadivolo (C) Moolobreil (D) Spadivolo

4-AA| [7] [ P.T.O.
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PAPER 4 NUMERICAL ABILITY AND SCIENTIFIC APTITUDE

026. 6897 is divisible by 026. e 6897 frE ZRT e 27

(A) 11 only (A) shad 11 ¥
(B) 19 only (B) had 199
(C) Both 11 & 19 (C) 11 & 198 &
(D) Neither 11 nor 19 (D) AMA 11T 198

027. Three numbers are in the ratio 1:2:3 and | 027. o9 & 1:2:3 * 4Td " g 3t gkl
their HCF is 12. The numbers are: 7.9.9. 12 8l 9 9= &:
(A) 4,8,12 (B) 5,10, 15 (A) 4,8,12 (B) 5,10, 15
(C) 10,20,30 (D) 12,24,36 (C) 10,20,30 (D) 12,24,36

028. 40.83x1.02x1.2=? 028. 40.83x1.02x1.2=?
(A) 41.64660  (B) 42.479532 (A) 41.64660  (B) 42.479532
(C) 49.97592 (D) 358.7952 (C) 49.97592 (D) 58.7952

029. Ifa*b=2a-3b+ab,then3*5+5%*3is | 029, Ife a*b=2a-3b+ab, @3 *5+5*3
equal to: fehteh SRTE BT 7
(A) 24 (B) 22 (A) 24 (B) 22
(C) 28 (D) 26 (C) 28 (D) 26

030. A cricketer has a certain average for 10 | 030. U fshehel & IE 10 9Tl < fou wes
innings. In the eleventh innings, he scored fféa ofwa grar 81 AREdl o °, 384
108 runs, thereby increasing his average 108 W sATE, 599 35T HEd 6 T a@]|
by 6 runs. His new average is: 3EhT 741 A4 &
(A) 48 runs (B) 52 runs (A) 48 (B) 52
(C) 55runs (D) 60 runs (C) 5@ (D) 60 [

4-AA| | Contd...
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031.  If the sum and difference of two numbers | 31, Ife @ g@&aT3T &1 T 3T 37T w9 20 gg@
are 20 and 8 respectively, then the 3ft 8 B, @1 3% @t T 7 B %&
difference of their square is: (A) 12 (B) 28 §§ >
(A) 12 (B) 28 s
R 57 150 (C) 160 (D) 180 g;g

032. Ina 10 years, A will be twice as old a | 032. 108 d A, 10 I 981 T B & ST 3%@%
B was 10 years ago. If A is now 9 years B AR A @ B H 9N 9 §ET &, df B
older than B, the present age of B is: EARCLEIE] Y 2
(A) 19 years (B) 29 years (A) 19 years (B) 29 years
(C) 39 years (D) 49 years (C) 39 years (D) 49 years

033. IfP% of P is 36, then P is equal to: 033. IR PHIP% 368, dd P & BT
(A) 15 (B) 60 (A) 15 (B) 60
(C) 600 (D) 3600 (C) 600 (D) 3600

034. There are 600 boys in a hostel. Each plays | 034. T SHEE H 600 TS &l Tdh TSI
either hockey or football or both. If 75% HEARI Wﬁ 1 2H @odr gl afe 75%
play hockey and 45% play football, how gleh! WeAd & 3R 45% Pedid @aid &, al
many play both? T WA fohdd e @od 27
(A) 48 (B) 60 (A) 48 (B) 60
(C) 80 (D) 120 (C) 80 (D) 120

035. A man buysacycle for Rs. 1400 and sells | 035. Us 37eHi ¥9d 1400 i Us Hgfha
it at a loss of 15%. What is the selling Tiied &, 3 38 15% Y &1 W o=@t
price of the cycle? HEIHEREIRCE R R e i
(A) Rs. 1090  (B) Rs. 1160 (A) %. 1090 (B) ®. 1160
(C) Rs. 1190 (D) Rs. 1202 (C) %. 1190 (D) %. 1202

4-AA| [9] | P.T.O.
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A shopkeeper sold an article offering
discount of 5% and earned a profit
of 23.5%. What would have been the
percentage of profit earned if no discount
was offered?

(A) 245 (B) 30

(C) 285 (D) 35

4 men and 6 women can complete a work
in 8 days while 3 men and 7 women can
complete it in 10 days. In how many days
will 10 women complete it?

(A) 35 (B) 40

(C) 45 (D) 50

A 1is twice as fast as B and B is thrice as
fast as C. The journey covered by C in 54
minutes will be covered by B in:

(A) 18 min (B) 27 min
(C) 38 min (D) 42 min

A train crosses a platform 100-meter-long

in 60 seconds at a speed of 45 km/hr. The

Ueh GHMGR o 5% hl @ hl USehsT Hid
gC Th WHM S AR 23.5% H1 AH
FamET| afg ge A ywrehy @ hl e
AT =T JlTd =T BRI 7

(A) 24.5 (B) 30

(C) 28.5 (D) 35

4 g& 3 6 Afeay 8 i o v Hm qu
L Tehd & Tafh 3 T&Y 71 7 AT 3a
10 fe=i # qu = wehdt §1 10 ufzad 3@
fopaa e o g it 7

(A) 35 (B) 40

(C) 45 (D) 50

A,BH AT o9 8 AR B, C | @4 T
99 8| C g0 AT HI 54 e qu foham
ST 2 A1 B g 9 ATAT =hI YU hl STQ ;
(A) 18 . (B) 27 .
(C) 38 . (D) 42 .

U oA 45 T/ =er & fd ¥ 60 T
H 100 HieT & Tsh wiHH R Sl &l

time taken by the train to cross an electric fersteft & 9Te1 =l UK & | aT-r ORGSR
pole is: T HHT &
(A) 8sec (B) 52 sec (A) 84. (B) 527%.
(C) 62 sec (D) 1 minute (C) 62 g, (D) 1 e
4-AA| [10] | Contd...
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040. If the radius of a circle is increased by | 040, =fe fre I $ B= 6% W St B, 4 ggg%
6%, then the area is increased by: 3T% AR gl'f.:g et 2. %&
(A) 6% (B) 12% (A) 6% (B) 12% §§ 4
(C) 12.36% (D) 13.26% (C) 12.36% (D) 13.26% Fars
gg
041. A jet engine works on the principle of | 041. SIE g1 fehdreh g T M ol & ﬂsig%
¥
conservation of (A) Mags nfq Kaxa
(A) Linear momentum (B) =i T
(B) Angular momentum
} R (C) Sl
(C) Energy
(D) Mass )
042. Through, which of one among the | (42, fi=fafgd 4 ®, fra Tl % wem 4,
following materials, does sound travel R Y e
slowest:
(A) Air (B) Glass (A) &0 (B) &
(C) Water (D) Wood (C) Ut (D) TAHsl
043. “The stars seem to be higher on the sky | 043. ‘“GR 37E®E ® ardg § foraqr =1 2
they actually are” this can be explained 2 309 e ydid 8d &8 I8 39k g
by: U ST Fohll 2:
(A) Atmospheric refraction (A) a@ng?«ﬁ'q S UCRE
(B) Dispersion of light (B) TehT¥T &1 heATd
(C) Diffraction of light (C) =131 &1 ToreeH
(D) Total internal reflection (D) e CIRIICRNE LT
044. In SONAR, we use 044. SONAR H &H ST HLdl &:
(A) Infrasonic waves (A) W@ﬁﬁ aq
(B) Ultrasonic waves (B) a@@ﬁiﬁ qal
(C) Radio waves (C) e o
(D) Audible sound waves (D) ¥4 eafH qul
4-AA| [ 11 ] | P.T.O.
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045. Which one ofthe following is an element? | 045. fafrfad & 9 sF @ Ueh ded 27
(A) Topaz (B) Diamond (A) qEU (B) &1
(C) Ruby (D) Sapphire (C) il (D) o™
046. Which of the following gases is used for | 046. ¥sfta= & fore Fafafea o @ fhe 7w =
refrigeration? 3UAAT feha ST 87
(A) Chlorine (B) Sulphur dioxide (A) FARE (B) T SEATFHES
(C) Phosphine (D) Ammonia (C) IEHRE (D) ==
047. The types of glass used in making lenses | 047. <& 3R {58 s99 o 39am fopu 54 9
and prisms is: A & YN B
(A) Softglass (B) Pyrex glass (A) R TTTH  (B) q@w TATH
(C) Jenaglass (D) Flint glass (C) ST TATE (D) Toeie @™
048. In the human body, red blood cells are | (048, THa IR H, ATA TF HIRHAT I TG
produced in: BT 2
(A) Li\-’ﬂl’ (A) %aI
(B) Pancreas (B) 3T=IH
(C) Bone marrow (C) 3fTor T
(D) None of the above (D) I9UE H T H1E TE
049. The oral Polio vaccine was discovered by | 049. 37t Giferay derdiq < @t fopeq bl o
(A) Louis Pasteur (A) gﬁ qrern
(B) Robert Koch (B) Tse
(C) Albert Sabin (C) Aeac |TfeH
(D) Alexander Fleming (D) FTAFAST FATHT
050. Night blindness can be corrected by intake | 050. Topass Taq & Wieft =1 3i Toham S wepdl
of: 2
(A) Vitamin A (B) Vitamin B (A) T © (B) Taerfed s
(C) Vitamin C (D) Vitamin D (C) T & (D) Taerd <
4-AA| [12] [ Contd...
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051. Which state government has won the | ¢51, fFrg =9 &R 7 ‘Tes &fede W’ §§
XY
'World Habitat Award' for its Jaga I ‘S fiee’ % fore Sfiar 2, e %
Mission, that aims at transforming the > & (el =1 123 4 37 %é g
slums into livable habitats? E
(A) Gujarat  (B) Uttar Pradesh (A) T (B) 3T HeH
(C) Odisha (D) Assam C) I=ET D) 3189 Ak
(C) 3¢ (D) BN
052. Whowasappointedas the ChiefExecutive | 052. 2019 % “‘37c®hree g9 o1 G&T AT
Officer (CEO) of Alphabet Inc. in 2019? srfereprdt fopmr foager feham T 2
(A) Steve Ballmer (A) Eia
(B) Satya Nadella (B) HAT &l
(C) Sergey Brin (C) i Tor
(D) Sundar Pichai (D) =R
053. Who was elected as the Prime Minister of | 053. fe&eR 2019 # fored o1 yamwst fopdt 1
the Britain in December 2019? 7
(A) Gordon Brown (A) e 1S4
(B) David Cameron (B) sfag smH
(C) Theresa May (C) S o
(D) Boris Johnson (D) SIfE T
054. What is India's rank in the recently | 054. 2019 H fava snfse m= gro S fopu MU
released Gender Gap Index for the year Affeh 3T gﬂq-aiq-a U WA 1 91 LM
2019 by World Economic Forum (WEF)? 87
(A) 114 (B) 113 (A) 114 (B) 113
(C) 112 (D) 111 (C) 112 (D) 111
4-AA| [13] | P.T.O.
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To what kind of transaction, National
Payments Corporation of India (NPCI)
has set up subsidiaries to elevate it to
International (Other) Countries?

(A) Immediate Payment Service (IMPS)
(B) Unified Payment Interface (UPI)
(C) Real-time gross settlement (RTGS)
(D) National Electronic Funds Transfer

(NEFT)

Which Indian wrestler first won the 2019
'JTunior Freestyle Wrestler of the Year' at
the age of 18 by United World Wrestling
(UWW)?

(A) Sushil Kumar (B) Rahul Aware

(C) Mausam Khatri (D) Deepak Punia

What is the name of the currency that was
renamed from "CFA Franc" by 8 West
African Nations (Benin, Burkina Faso,
Guinea-Bissau, Ivory Coast, Mali, Niger,
Senegal, and Togo) recently?
(A) Ero (B) Euro

(C) Esho (D) Eco

e T8 % “H-o1 % fou wndE agE
WIaH T A wgant Jedq1et sl T
61 8, o8 @ IqWdE T W el
Heh ?

(A) Td JIad a1 / WA um=e

EICEE]
(B) FAIIEE UH= STaH
(C) {=eT A UE HEeTH=

(D) A SAFEIh B THH

frg 9RdE vgeam 3 ARl fova
Tgdal SfifEr 2019 ay @1 JRR

HReRd YgadH! o1 fadre Sfiar 27

(A) Gl FAR  (B) Ut 37N
(C) HE | @t (D) diueh gfem

3TTS qfTel STshieh! o=l gr (SifH, SEferT
s, fafren-faars, sdad #re, wre,
TSI, FATA I ) AT GgT CFA-
FRANC 1 foh® U 910 & g &7
(A) Ero (B) Euro

(C) Esho (D) Eco

4-AA| [ 14 ] [ Contd...
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058. Who was honored with the first 'lcon | ¢58. fergepl 99w 3TEHIA Moed .ﬂqc-ﬂ 4TS, g%
of Golden Jubilee Award' during 50th S0th T sTidE frew 3o, 2019 %’5‘
International Film Festival of India (IFFI) vt & e e T 7 §§ g
(2;9; ?loak?h . (A) IMEEE €T Eﬁ
ahru an
(B) Amitabh Bachchan B) S EEH é%é
(C) S. Rajinikanth (©) TR &E,&E
(D) Kamal Haasan (D) U &8 e
059. What was the theme of 11th DefExpo | 059. w@"s, I Y9 | Ar=ifad 11 9 feb=a
held in Lucknow, Uttar Pradesh? Tl 1 fae = ar?
(A) 'Digital Information of Defence' (A) & i fefvres AT
(B) 'Indian Defence role in the (B) MR 187 &1 WRA o IEd §
Transforming India’ ANTEH
(C) 'Digital Transformation of Defence' (C) & 1 feforedt aitad
(D) 'Defence and Indian Economy' (D) & IR AT AfITEdT
060. Which organization has partnered with | 060. ToFg Twm 3 Y T JTIeehRiol &+ 91y
the National Health Authority (NHA) for Wil & % YIS STERE ST
strengthening the implementation of the ¢ A R ... FI'I"I\EF@ e
Ayushman Bharat-Pradhan Mantri Jan 57
Arogya Yojana?
(A) Infosys (B) Facebook (A) T B) W
(C) Google (D) Microsoft (C) et (D) HTEShIHTTE
061. Who won the Raman Magsaysay award | 061. 9 H&E¥ aT€ 2019 UHeh1idr & fasrd
for journalism 2019? HH 27
(A) Sandeep Pandey (A) |EH e
(B) Sudheer Chaudhury (B) g =tedi
(C) Sanjiv Chaturvedi (C) Gsfig =qad]
(D) Ravish Kumar (D) &I $HHR
4-AA| [15] | P.T.O.
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Which of the following organization has

allowed the investors to buy mutual fund

through digital wallets?

(A) Stock Exchange Board of India

(B) Monitoring Mutual Fund
Investments

(C) Credit Rate List Department

(D) Financial Analysis Department

Where was the India's Ist plant set up
to produce diesel from plastic waste
opened?

(A) Aizawl (B) Mathura

(C) Shillong (D) Kohima

Name the famous basketball player who
won 2 gold in Olympics, but died recently
in a helicopter crash?

(A) Kobe Bryant (B) Lebron James
(C) Chriss Weber (D) Stephen Curry

Which of the three banks which have
merged together to become a new bank
and the second largest from April 1,
20207

(A) PNB, OBC and United Bank (UB)
(B) UB, Syndicate Bank, and PNB

(C) Andhra Bank, OBC, and PNB

(D) OBC, UB, and Syndicate Bank

Which country has topped in the World
Economic Forum (WEF)'s 2019 Global
Competitiveness Index 4.0. ?

(A) Switzerland

(B) Netherlands

(C) Singapore

(D) United States of America

g0 O form Teem 9 fawesn &1 fefSea
aicte’ & gRI T s @il 6l Al
Q87

(A) i THE dis 3% sfean

(B) WA T=iet %8 $awehe

(C) shise @ foree feurde

(D) BT HIfaEE feurdae

TG 9% § gl 99 o fou, 9ra =

qE8] W1 hal @il T 2 ?
(A) HAEAA (B) AT
(C) farem (D) <hifgT

g d¥ehedl Raarel e g1 ATefue
Fauigee Sfid, fohg T aefiehicet geedt |
AR 4| 37T ATH Fd133 |

(A) & FFE (B) e SF

(C) REasm (D) i &R

®H A o7 d 1 31 2020 & foem g
T T3 3TN g o a8 ok T 7

(A) PNB, OBC 3 F13fse % (UB)
(B) UB, fafgse &, 37X PNB

(C) =71dT ik, OBC, 31 PNB

(D) OBC, UB 3R fafgehe s

form o1 ® fowa anfdss #= 2019, afvas
gfcarft geehies 4.0 § 9em T 9Td foka
87

(A) TESiers

(B) Fcteis

(C) Femy

(D) 3TN, (USA)

4-AA| [16] [ Contd...
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067. Who is the winner of Noble prize for | 067. Hifecd % Alae GWEHR, 2019, I fosidr g%
literature in 2019? HHE 77 Sk
(A) Peter Handke (A) HI& BISH ﬁg’%
(B) Olga Tokarczuk (B) 3T TreRTsTeh §§ E
(C) Sophie Semin (C) =rhr Tt E
(D) Kazuo Ishiguro (D) I3 shrm
| et
068. Who won 19th world title and breaks the | gg8. 19 a7 favg fmare it 39fa g =@ g0
record for most world medals won by any 3 FEiees 9cohl o Nepe ol dis-ara
gymnast? e S 27
(A) Katelyn Ohashi (A) w13l 3TraTEt
(B) Aly Raisman (B) Uelt TgEEH
(C) Simone Biles (C) ToaM smged
(D) Gabby Douglas (D) Tl STTE
069. Whereis India's first marine national park 069. YR T T&eT TH Hﬁﬁ T et foord &7
located in? (A) TR @
(A) The gulf of Mannar ,
(B) Bay of Bengal (B " ) ]
(C) Gulf of Khambhat (C) G =i el
(D) Arabian sea (D) 3T 9P
070. The highest glacial lake of India located | 070. ¥R & o8 FH= B fia s 6t
at the height of 17745 feet in Garhwal 17745 Hie ht SaE W T fBae |1
Himalaya is known as &, Tohe M & S ST & 7
(A) Devtal (B) Roopkund (A) cadra (B) ®He
(C) Kedaltal (D) Homkund (C) SheTAdTA (D) -@p:@a
071.  Which of the following(s) ancient Tamil | 071, =40 & %9 ¥ Y= dEe T4, Iy grfgey
Kingdoms came to be known from 3 W T
Sangam Literature?
(A) Chola (B) Chera (A) e (B) =
(C) Pandya (D) All of the above (C) 9rs=n (D) I
4-AA| [17] | P.T.O.
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Which of the following company has
partnered with UNESCO to adopt
technology in classrooms?

(A) Samsung (B) Lenovo

(C) Toshiba (D) Dell

FSSAI (Food Safety and Standards
Authority of India) is going to develop

app to prevent food wastage in partnership
with which company?

(A) Google

(B) NASSCOM Foundation

(C) Infosys

(D) TCS

Facebook launches cryptocurrency
which allows users to make financial
transactions across the globe. It's named
as

(A) Dobil (B) Libra

(C) Cryco (D) Digicy

What was the theme of the International
Sea Food show organized by the Marine
Products Export Development Authority
in 2019?

(A) Blue Revolution

(B) Save marine life

(C) Save sea for sea food

(D) Save sea for the next generation

I ¥ R #OE 3 UNESCO  (Ih)
% H1 qrfierll & Trenfiehl o aoEEs |
YT B 7

(A) HHET (B) ferran

(C) arfsmen (D) =

RA™ @ gl U HEe W |
(FSSAI) Tore gt <5 9191 Wi d @
&7 =l Teh < fTT Teh T (App) Terehitd
T I 77

(A) T4

(B) MM HIHeIF (NASSCOM)

(C) FhifeE

(D) d1.91.ud. (TCS)

BhHeeh o g1 gaifud i 78 et st
1 fovawt # foxfia eH-<7 <t srgmfa <ar
2, & IH FAT 87

(A) Sifad (Dobil) (B) feasim (Libra)
(C) TEHI (Cryco) (D) fefomt (Digicy)

Tgra 3carg fata faem wiftssor & g
JFNTSIA STaTET T Wie 9, 2019
1 Taw &1 17

(A) a1 shifd

(B) HHgI g &

(C) T WsH = foTu wg a1 wxem
(D) 3TeA it = foTg g 1 wEu
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PAPER 4 ENGLISH LANGUAGE
076. Pick the word that is closet in meaning to | 081. Pick the word that is closet in meaning of g
‘Eccentric’. the phrase “about to™: %&
(A) Strange (B) Natural (A) tobeonthepointofdoing something. §§ g
(C) Shine (D) Gentle (B) suddenly, without advance warning -
(C) with regard to gé
077. Pick the word that is closet in meaning to (D) in addition Dﬁ&ﬂﬁ
. Wana
Justify’.
(&) Defeiid @) ‘Teiidet 082. Animals that eat flesh:
(C) Cruel (D) Optional (A) Herbivorous (B) Carnivorous
(C) Amphibians (D) Gregarious
078. Antonym of ‘Sarcastic’:
Questions 083 through 086 refer to the following
(A) Ironical (B) Derisive
passage:
(C) Courteous (D) Saucy
The human body can tolerate only a small range
of temperature, especially when the person is
079. Antonym of ‘Vanity’:
engaged In vigorous activity. Heat reactions
(A) Modesty (B) Esteemed
usually occur when large amounts of water and/or
(C) Conceit (D) Pretension
salt are lost through excessive sweating following
strenuous exercise. When the body becomes
080. Pick the word that is closet in meaning of
overheated and cannot eliminate this excess heat,
the idiom “Make a long story short™:
heat exhaustion and heat stroke are possible.
(A) Come to the point
Heat exhaustion 1s generally characterized by
(B) No manners
clammy skin, fatigue, nausea, dizziness, profuse
(C) Allofit
perspiration, and sometimes fainting, resulting
(D) Everything
from an inadequate intake of water and the loss
4-AA| [19'] | P.T.O.
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of fluids. First aid treatment for this condition
includes having the victim lie down, raising the
feet 8 to 12 inches, applying cool, wet cloths
to the skin, and giving the victim sips of salt
water (I teaspoon per glass, half a glass every
15 minutes) over a I-hour period. Heat stroke
1s much more serious; it 1s an immediate life-
threatening situation. The characteristics of heat
stroke are a high body temperature (which may
reach 106° F or more); a rapid pulse; hot, dry skin;
and a blocked sweating mechanism. Victims of
this condition may be unconscious, and first-aid
measures should be directed at quickly cooling
the body. The victim should be placed in a tub
of cold water or repeatedly sponged with cool
water until his or her temperature is sufficiently
lowered. Fans or air conditioners will also help
with the cooling process. Care should be taken,
however, not to-over-chill the victim once the

temperature is below 102° F.

083. The most immediate concern of a person
tending to a victim of heat stroke should
be to
(A) get salt into the victim’s body.

(B) raise the victim’s feet.
(C) lower the victim’s pulse.

(D) lower the victim’s temperature.

Which of the following is a symptom of
heat exhaustion?

(A) unconsciousness

(B) profuse sweating

(C) hot, dry skin

(D) a weak pulse

Heat stroke is more serious than heat
exhaustion because heat stroke victims
(A) do not sweat.

(B) have no salt in their bodies.

(C) cannot take in water.

(D) have frequent fainting spells.

Symptoms such as nausea and dizziness
in a heat exhaustion victim indicate that
the person most likely needs to

(A) be immediately taken to a hospital.
(B) be given more salt water.

(C) be immersed in a tub of water.

(D) sweat more.

Draw .... map of India.
(A) a (B) the

(C) an (D) zero article

Doctor says it is .... hopeless case.
(A) the (B) an

(C) a (D) zero article

4-AA|
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089. I came the day ..... yesterday. 094. Which of the following is the correct
(A) after (B) before ‘direct’ equivalent of the sentence?
_ She said she didn’t believe him.
(C) since (D) over
(A) She tells to me, “I don’t believe
you”.
090. He rules .... a vast empire. (B) She said to him, “I don’t believe
(A) above (B) upon you”.
(C) She exclaimed, “Alas! I don’t believe
(C) over (D) under
you™.
(D) She told me that, “I didn’t believe
091. Ourhoard is little, .... our hearts are great. you”.
(A) and (B) or
() but (D) that 095. Which of the following is the correct
‘passive’ equivalent of the sentence?
One should keep one’s promises.
092. Two .... two make four. (A) Promises would keep by us.
(A) a (B) and (B) One should keep promises.
(C) but (D) an (C) Promises should be kept.
(D) One should keep promises.
093. Which of the following is the correct | ¢g96. Which of the following is the correct
‘indirect’ equivalent of the sentence? ‘active’ equivalent of the sentence?
He said, “I am unwell”. The Mayor’s speech was loudly cheered.
(A) The audience loudly cheered the
(A) He said he was unwell.
Mayor’s speech.
(B) He said to me I was unwell. (B) The Mayor speeches loudly cheered.
(C) He said to me that I am unwell. (C) The audience cheered the speech.
(D) He said me I was unwell. (D) The Mayor’s speech was cheered.
4-AA| [21] | P.T.O.
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Choose the correct sentence:
(A) We discussed about the matter

yesterday.

Choose the correct sentence:
(A) Ishall not come unless you need me.

(B) I shall not come except you need

2 AR S S 0 A
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me.
(C) Both of the above
(D) None of the above

(B) We discussed the matter yesterday.
(C) Wediscussed to the matter yesterday.

(D) We discuss matter yesterday

100. Choose the correct sentence:

098. Choose the correct sentence: -
(A) He lost not only his ticket, but also

(A) I have ordered for three cups of his Taggage.

coffee. (B) He not only lost his ticket, but also

(B) Ihave ordered three cups of coffee. his luggage.
(C) Both of the above

(D) None of the above

(C) Both of the above.
(D) None of the above.
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